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Twentieth International Mathematics Contest (Taiwan)
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3. If 12xH=K, which of the following options is correct? (A)H=12xK (B)H=12+K (C)H=Kx12

(D)H=K +12
<fE$7>
12xH=K
H=K+12
E Do

4 mEABEBE 25 A PB-ZFI4L 0 HTFALE IR THE SR
(A)60 (B)160 (C)40 (D)140

<fEt7>

235x4=940

1000-940=60 > & A -

5. 23 A FFpE - AFER - KRS - 70 F P20 B R s &L B AR
Heo F R AROERF SRE 120 R E R 8 42 (A)21 (B)22 (0)23 (D)24

<ﬁz+fr>

12+12-1=23 » i C »

6. 3+ 5 11x22+22x33+33x44+44x55+55%x66=2 (A)8470 (B)8570 (C)8250 (D)8350
<ﬁz+fr>

N =11x11x2+11x2x11x3+11x3x11x4+11x4x11x5+11x5x11x6
=1Ix11x2+11x11x6+11x11x12+11x11x20+11x11x30

=121x(2+6+12+20+30)=121x70=8470 > i£ A o
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<f#{7>

13x7+5=96

96+6=16 > i£ C -

8. Wwim s & Bl kv ede L E 2R T B 3IARNFEM I ER - o> Wt e 78
#? (A)68 (B)69 (C)70 (D)71

<fiz45>

81+3=84

84+7=12

81-12=69 > £ B -

0. PHim4 136 8% > 2B £ X225 1088 5 2254 55 89(A)516 (B)380
(C)506 (D)370

<fais>

136x2=272

272+108=380
380+136=516 > :£ A -

10. #5425 6 B 13> e Bt 1~6- BEMH  dokF P IS
Bl oh o RGBT PR TG - B § EAR LR (A)S (6)
(B)15 (C)28 (D)30 V2 Y

<iaies (X35

8=2x4

15=3x5

28=4x7(H &)

30=5x6
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v >z ]:5>E7 ,]:{,>—:

BxP=10>2=8  f=11>7=7
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SR E] 5L FLAR LY (A)27 (B)28 (C)29 (D)30

<f#{7>
PEE & R T LE
200+10=20 20 20
20+3=6...2 6 6+2=8
8+3=2...2 2 242
4:3=1...1 1 1+1

B 5 20+6+2+1=29 5T » :E C o

13. 2305 17=3 13> Kopd 2% L kBE »vREEE S5 (A)X » -1 X(B)+ > - -
+(C)—|—,+a+(D)—|—’—|—’X

<)§’Zp’+fr>
3+5-7=3+3
,’;):%,,{-4-,_,%_) F Bo

14. How many squares(* = #%) are there in the figure on the right?
(A)25 (B)26 (C)27 (D)28

<fEir>

= A5(1)=17

I = 25(4)=8

o= A5(9)=2

£ 4 17+8+2=27 % » E C -

157 7| & fgepficd 305 - 2B > Bl F kT E M BT O R
4 6 ? 9 1 8
13 17 15 23 7 21

(A)3 (B)5 (C)9 (D)6

<f%47>

4x2+5=13

6x2+5=17

9%x2+5=23

[Ix2+5=15>[]=5> E B »
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16. — 1% 650 2/ K it 0 F A4S DA T A - B 2T T A BE? FT SN0
(mma’m“#(mw&’ﬁ“ﬁ(QB&’ 5am (D)6 F 10 = a

<fE$7>

650+45=14.....20

PAI4EF T4 FA

17. &% Z #3100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 #& » — &= & Frafcis » v 2R
PRE-4e ~ 15> AT i %357 (A)11 (B)26 (C)31 (D)51

<fE$7>

£=200-100=100 > = £ HcRiE=—r

Zn=l~2-4~5~10~20~25~ 50‘100

Al n=1 > £=100 > #7[=100 ~ 200 ~ 300 ~ 400 ~ 500 ~ 600 (6 &)

Pl n=2 > £=50- #7|=100 ~ 150 ~ 200 ~ 250 ~ 300 ~ 350 ~ 400 ~ 450 ~ 500 ~ 550 ~ 600(6+5x1=11 3%)
Pl n=4 > £=25> #7|=100 ~ 125 ~ 150 ~ 175 ~ 200 ~ 225 ~ 250 ~ 275 ~ 300 ~ 325 ~ 350 ~ 375 ~ 400 ~
425 ~ 450 ~ 475 ~ 500 ~ 525 ~ 550 ~ 575 ~ 600(6+5x3=21 %)
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]
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e
g
W

100
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Bl =5+ £=20 #5|=100 ~ 120 ~ ~ ~ ~ (6+5x4=26 37)

Bl n=10 > £=10» #5|=100 ~ 110 ~ ~ ~ ~ (6+5x9=51 37)
Bl n=20 » £=5 #5]=100 ~ 105 ~ ~ ~ ~ (6+5x19=101 77 )
Bl n=25 » £=4 #5]=100 ~ 105 ~ ~ ~ ~ (6+5x24=126 77 )
Bl n=50 » £=2 #5|=100 ~ 102 ~ ~ ~ ~ (6+5x49=251 77 )
Bl n=100 » =1 #5]=100 ~ 101 ~ ~ ~ ~ (6+5x99=501 7% )
7 ¥4 H 313 0 FCo

18, B H# g 2 Heenfos (32 Henfodn £ 5 27 (A)21 (B)IS (O)15 (D)12

JRFE B 1357911
FH=1+3+5=9 » {4 = H=T+9+11=27
27-9=18 » % B -

19 A
A AA
A AA A A 9
AA A A A A
AA AAA AAAA AAAAA

RHEBARES BRI T-BEZESBE LRI = £352(A)14 (B)15(0)16 (D)17
<fE$7>
356912 L 51> 2= 4
T - BB EE=12+3=15FE B-
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Sk R4t #8457 > g8 B2 TEE > #4ax L okl
Fdsidn 337 - MAfFs Brghk- 27 7 2R (A)1(B)2(C)3 (D)4 | =

<f#47>

33+3=11

33=10+11+12

12-10=2 - E B ~

21. The figure on the right is composed of 6 semicircle arcs (& [f]5%)

and 6 i arcs(7™). If the diameter is 3, what is the area of the gray
part in square units? (A)9 7 (B)27 (C)30 (D)12 7

<fZ{7>

BB EATEE VA AED
B f=3xox6=27 > i B -

22.% & n FEEk nl=nx(n-1)x(n-2)x(n-3)x-++--- x3x2x1 » G4 41=4x3x2x1 > B x!=6!x7! > R
x=? (A)13 (B)9 (C)10 (D)42

<fzr>

xX1=T1x6x5x4x3x2x1=7!x8x9x10=10! > R x=10

ECo

2 2? g Mk TE & L ae

23,87 252252275227 L 30 % A3 € 3 100010007 (23=2x2x2=8)
(A)4 (B)5 (C)101 (D)1001
<ﬁz+fr>
@10001000:(103)1000
@ ai=2

a;=2°=2x2=4

a=22°=2=16

as=2=216=210x26=1024x64=65536

a5:2a4:265536:(210)6553X26:10246553X26>(103)6553X64>(103)1000
% 53 E Be
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24. Refer to the diagram, the area of quadrilateral ABCD is 120 square units,

ED=2AE, BF=2FC. G and H are midpoints of BE and DF,

respectively. What is the area of the shaded quadrilateal EGFH? (A)30 (B)35

(C)40 (D)60
<f3t5>
Qw #3) EBFD=2(x+y)
2 835 ABCD=3(x+y)
— 1§17 EBFD=2xw 7 ABCD=2x120-80

@ §2; EGFH=a+b
v 1§35 EBFD=2(a+b)
— 1 7] EGFH=xw ) EBFD=-x80=40

#FC-

2540 A Mo 0 de B PR - TR B S] RAR B BBl
#ic? o ] PR R 20 Bl @2 (A)599 (B)699 (C)799 (D)899
<fEt7>
3~7~19~31~51~71~99~127~163 ~ 199
a=7

as=7+12x2
ae=T7+12x2+20x%2
ag=T7+12x2+20x2+28x2=T+2x(12+20+28)
a10=7+12x2+20x2+28x2+36x2=7T+2x(12+20+28+36)

ar=T+2x(12+20+28+.. .+b9)=7+2Xw=7+9x(24+64)=7+792=799
# Co
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512161341
431526
6/1/2|4/5|3
3/4|5|6|1|2
2/6|4)1/3|5
1153|264
LR 1RSS5S A
ESHIREL LS £5 20 F
21 #2 2 EHL 25 &~ (5+20)

DPRERL A Al R AT R 2P I AE AKX T UL R 2 ARS8 EAE
G- B e S F- BIRERG 48 214

()* 2 & 57 24 3 55 FIRE?

(2)48 4 ¥ Fiwh b A Ak 29

<jai>
(1) 48x8+(2+1)="=16x8=128 £

) 48><§=32
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